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14.
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During the production of oral sounds, the nasal passage is completely blocked and the

air escapes through the mouth alone.

a. The slatement is false
The statement is true

C.

‘Ice-Cream” is a

a. Compound words
c. Portmanteau morph

b.
d.

Different realizations of a morpheme are the
a. Portmanteau morph

¢. Bound morph

a.
C.

a.
C.

b.
d.

The statement is partially true
The statement is partially false

Complex words
None of the above

Allomorphs
None of the above

is a phonological and orthographical segment of an utterance.

Morph
Morpheme

Derivational affixes

Bothaand b

b.
d.

b.

Allomorph
Affix

Inflectional affixes

. are constantly being added to produce infinite number of words.

d. Only derivational affixes

“I have been wailing for you”, which inflectional suffix is added in the word ‘been’?
b. Past participate marked suffix

a.

Past tense suffix
¢. Plural marker suffix

d.

Present participle suffix

How many components of sign are mentioned by Saussure?

da.
C.

2
4

b.
d.

3
5

Statement I: Symbols are exact copy of real objects.
Statement II: One’s own photograph can be considered as a symbol.

alse

a. Both the statements are true b. Both the statements are |
c. Statement | is true but Il is false d. Statement | is false but Il is true
Smokeisthe _ of fire.

a. Icon b. Index

¢. Symbol d. None

How many types of signs are there according, to C.S. Peirce?

a1 b. 2

¢ 3 d. 4

The sign of power button in the electronic devices can be considered as
a. Signified b. Symbol

c. Index d. Icon
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(Descrintive)

Time: 2 hr. 30 mins. Marks : 50

[ Answer question no.1 & any four (4) from the rest |

1. What do you understand by IC analysis? Explain it with the help of 4+6=10
two examples.

2. What are the differences between inflectional and derivational 5+5=10
morphemes? Explain with examples.

3.  Write short notes on the following: (any two) 5¢5=10
a) Icon
b) Index
¢) Symbol

4. What do you understand by the term ‘Morphology’? Differentiate 2+8=10
bound morpheme and free morpheme.

5. What is Semiolics? Explain its approaches. Discuss Saussure’s dyadic 2+2+6=10
notion of sign with proper examples.

6. Show PS rules for the following sentences: 2x5=10
a) The lion is the king of jungle.
b) The cat is sleeping under the bed.
<) Cows are grazing, in the field.
d) The boy in the black suit is my brother.
¢) The sun rises in the cast.

7. Whatis a syllable? Explain its important elements with the help of 4+6-10
three different syllable structures.

8. Transcribe the following words and make syllable structures: 2x5=10
a) Examination
b) Excellent
¢) Honorable
d) Guava
¢) Church

- e
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